CLASS XlI
Russian - 021
Marking scheme 2019-20

Time allowed : 3 hours Total marks : 80

Question Section A Distribution

Applied Grammar — 40 marks

number of marks

1 Expected answers 5x2=10

(Answers are given in short. Students should
write full answers)

3BeCTHOro xygoXHuka
ATOT nucaTenb

Bcem cTtygeHTam
Pycckon nucatenbHuubI
O Hawewm cocene

aobkrowbn -~

2 Expected answers 5x2=10

['ynas

3aHnmManch

BonHysick / pacckasbiBas
Bbingsa

MocmoTpeB

aobkrown -~




Expected answers

abkown =

[NpoyntaHHoOM
Nayyatowaa
BbicTynasuiero
KynneHHas
BcTpeyeHHble

5x2=10

Expected answers

R wnN

. Tponnenbyc noaxoauT K OCTaHOBKe Yepes

Kakable 3 MUHYTbI.

CecTpa BblWwIa u3 6ubnmoTekn.
OTOT cTyaeHT yexan B Mockay.
Mbl Bownu B 6yger.

[Moesn oTowEN OT NnaTgopMbI.

5x2=10

Section B — Reading comprehension
Marks — 10

Expected answers

1.

Mudparop — apesBHerpedeckun dunocod u
matematuk. OH 3aHMmanca dowunocoduen n
matematukon. OH Takke Nbun 3aHMMaTbCA
cropToM.

. OH nmobun cnopt noTomy, 4YTO cCHOopT

nomoran emy paboTtatb, AymaTb, U TaKxe
3aHnmMaTbCa omnocoduen n maTeMaTUKOMN.

. B cBobogHOE BpeMsi DNHLWITENH 3aHUMAarncs

MYy3bIkO. OH XOPOLLO uUrpan Ha CKpUMKe.

. Pesepdopa ntobun cnopt n B ceoboaHoe

BpeMs urpan B TeHHuc. MaBnos nobun
rynsaTb NETOM M 3MMOW KaTaTbCsl Ha JbKax.
BopoauH o4eHb Nobun 3aHNMaTbLCS

5x2=10




MY3bIKOW.

5. B cBoboaHoe Bpems s nobnto urpatb B
KPUKET U crnywaTtb My3bIKY.
(This is only an example and a different
answer is expected from each student)

Section C
Composition and writing — 10 marks

This being a subjective type question the
division of marks will be as follows:

Content — 7 marks

Syntactic and grammatical accuracy — 3 marks

Section D
Questions based on the texts
Marks — 10 marks

Each student is expected to answer the five
questions, based on the texts of the prescribed
book. Each question carries 2 marks. One mark is
assigned to the accuracy/ precision of the content
and one mark is assigned to the presentation of
the answer vis-a-vis grammar, sentence formation
and correct usage of the cases of Russian
language.

5x2=10

Expectedanswers

Nearly six kilometers from KutubMinar there is one
of the main universities of India — Jawaharlal

1x5=5




Nehru university. There are different faculties in it.

One of the biggest faculties is the Faculty of
Languages, where Indian and foreign languages
are taught

Expected answers

OH NULWET KPaCcHOW py4KoW.

1 yBepeH, OH OacT 9K3aMeH.

Tbl cebs NNoxXo YyBCTBYELb, MO K Bpayy.
Mown oTeL cnuT nocnegHue 5 4yacos.
Ckaxxn MHe, Korga Tbl bygellb y Hac B
FOCTSIX.

a bk own =

5x1=5




